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Unit 7 Polynomials Review
A-APR.L: [ can add and subtract polynomaly.

nune NSO

Date

4 Write the ;i111|1]ii11'{1_ (_xpr_'L;Hl_rm_lhdl represents the B
perimeter of the trapezoid below.
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- 2. Simplify the following expression

(x* +3x- Z)Qw)
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5. What 1s the first step in"r>rdcr_ro:i-m_pl_igtgt‘;liﬂ;iﬁg_ i

expression (a” + 2a* + 5%40 -2)?
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@ Eliminate parenthesis; a*+2a*+5—a’*+4a—-2
® FOIL; a® +4a* -2a* -2a+7 |
@ Multiply like terms; a’® +8a° +10
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. Distributive Property; a® + 20 s5—at=dg+d

| 3. Estrella Elementary School has plans to double the area of

. their parking lot. The diagram below shows the shape of the

' new parking lot. Find an expression for the perimeter of the
entire rectangular parking lot.
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6. The total revenue of a bulb company 1s modeled by the
expression —=0.85x - 1.64x + 2, where xis the number of |
bulbs produced per week and the expression 1s in dollars.
The total cost of producing x bulbs 1s modeled by the
expression 0.07x + 1.87x— 3. What 1s the tortal profit
earned by the company?

Profit= (Revenuwe)— (cost
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LA—APR.]: I cam multiply polynornals,
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&mnd the tollowing expression (4 - H2x+1)
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S Muloph A =10 and 7 =2 then simplify the
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10 Simphity the tollowing expression
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9 LUsing the rectangular prism shown, select the factors of the
expression to find the volume of the object.

® .3
®
0 2a
L1 (a+3)
u‘+3
&

|
i
. a

12. Suppose a rectangular table has a length of 2¢ + 7 feer
and a width of 3¢ feet. Wnte a stmphified expression tor
the area of the ble m square teer
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13 Explan the meaning of the exponent i the alpebrai [ 16

expression(a + h) 7 [ A~ X\ Part A:
v ( Q4 h\( O+b) l
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| [ Fvaluate x4 Voand (x4 'p'}‘ forx = 3andy = 2.

&l se the 2 as an exponent on both terms ot the bhinomial : « u S() Pé M T)H( O < (_leﬁ adl

\dd the bimomual tooaselt 2 nmes

- y! (x + \')
)L <e the 2 as a coethicient of the binonaal ' = |
8 Multph the binomaal by wselt 2 ines -5 -~ 3 / - Z 3
A * Z -5
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4 Paplan why 1% and (2n — 3)are factors ol the (X ponens ( add)

aapression 2 ( 20 = 3) and not terms of the expression (;J —1[ - ‘é
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15 Given the formula and nnag:. determune the piu,u that 1s

er’.n__“i"i" (daNdv)2x+ l*—- (dxr ) ? |
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How ts the order of the steps ditferent tor the rwo

CXPIessions?
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